BID SUMMARY October 1, 2012

1. No. CC100112-02.1 – 11th Street Railroad Crossing Project No. RR12-2024 / CIP No. 50173 (Opened on September 25, 2012)

ADVERTISING AUTHORITY \$150,000.00 ENGINEER'S ESTIMATE \$15,368.00

Base Bid \$18,385.00

\$19,290.00

Stanley J Johnsen Concrete Contractor, Inc.**
 Simon Contractors of SD, Inc.**

2. Simon Contractors of SD, Inc.

3. Hills Materials Company** non-conforming bid submitted

2. No. CC100112-02.2 – Maple Avenue Railroad Crossing Project No. RR12-2050 / CIP No. 50170-5163 (Opened on September 25, 2012)

ADVERTISING AUTHORITY \$150,000.00 ENGINEER'S ESTIMATE \$15,580.00

Base Bid

1. Hills Materials Company** non-conforming bid submitted

2. Simon Contractors of SD, Inc.** \$20,170.00
3. Stanley J Johnsen Concrete Contractors, Inc.** \$18,935.00

3. No. CC100112-02.3 – 2012 Out of the Dust Project No. 12-2003 / CIP No. 50297 (Opened on September 25, 2012)

ADVERTISING AUTHORITY \$60,000.00 ENGINEER'S ESTIMATE Base Bid \$70,215.00

	Base Bid	Alternate 1
1. Simon Contractors of SD, Inc.**	\$62,175.00	\$32,320.00
2. Hills Materials Company**	\$79,335.00	\$44,115.00
3. J&J Asphalt Company**	\$63,230.00	\$34,397.00

^{*} Cashier's Check, Money Order or Bank Draft Submitted

^{**} Bid Bond Submitted

BID SUMMARY October 1, 2012

4. No. CC100112-02.4 – 2011-12 Manhole Adjustment Project Project No. ST11-1970 / CIP No. 50846 (Opened on September 25, 2012)

ADVERTISING AUTHORITY	•	\$70,000.00
ENGINEER'S ESTIMATE	Base Bid	\$46,587.50
	Alternate	\$13,495.00

	Base Bid	Alternate 1
1. Smith & Smith Construction, Inc.**	\$82,370.00	\$26,800.00
2. Highmark, Inc.**	\$40,634.50	\$16,292.50
3. Tru-Form Construction, Inc.**	\$66,176.00	\$20,410.00
4. Simon Contractors of SD, Inc.**	\$69,108.40	\$17,828.00
5. R.C.S. Construction, Inc.**	\$59,420.00	\$17,675.00

5. No. CC100112-02.5 – Hoefer Avenue Overlay Project Project No. 12-2046 / CIP No. 50445 (Opened on September 25, 2012)

ADVERTISING AUTHORITY	•	\$250,000.00
ENGINEER'S ESTIMATE	Base Bid	\$205,000.00
	Alternate	\$31,000.00

	Base Bid	Alternate 1
1. J&J Asphalt Company**	\$172,944.00	\$24,248.20
2. Hills Materials Company**	\$200,412.50	\$29,528.00
3. Simon Contractors of SD, Inc.**	\$189,079.00	\$27,410.50

6. No. CC100112-02.6 - Perrine Drainage Outfall Element 8 Project No. DR11-1963 / CIP No. 50836 (Opened on September 25, 2012)

ADVERTISING AUTHORITY	\$80,000.00
ENGINEER'S ESTIMATE	\$282,616.80

	Base Bid
1. R.C.S. Construction, Inc.**	\$214,960.00
2. Mainline Contracting, Inc.**	\$292,416.85
3. Heavy Constructors, Inc.**	\$274,468.07
4. Site Work Specialists, Inc.**	\$256,113.30
5. Quinn Construction, Inc.**	\$289,530.00
6. Tru-Form Construction, Inc.**	\$276,213.60

^{*} Cashier's Check, Money Order or Bank Draft Submitted

^{**} Bid Bond Submitted

BID SUMMARY October 1, 2012

7. No. CC100112-02.7 – E. Idaho and Ivy Water Main Reconstruction Project No. 12-2059 / CIP No. 50421.3-1A (Opened on September 25, 2012)

ADVERTISING AUTHORITY	\$550,000.00
ENGINEER'S ESTIMATE	\$640,000.00

Base Bid
\$701,788.20
\$686,952.50
\$521,124.00
\$509,378.00
\$472,995.50

^{*} Cashier's Check, Money Order or Bank Draft Submitted

^{**} Bid Bond Submitted

BID AWARD SUMMARY

LETTING DATE: September 25, 2012

PROJECT: E Idaho and Ivy Water main Reconstruction

Project No. 12-2059 / CIP No. 50421.3-1A

RECOMMENDATION: Award Total Bid in the amount of \$472,995.50 to Mainline Contracting, Inc. at the October 1, 2012 Council Meeting.

BIDDER'S SUMMARY

CONTRACTORS	TOTAL BID
Mainline Contracting, Inc. R.C.S. Construction, Inc. Site Work Specialists, Inc. Highmark, Inc. Hills Materials Company	\$472,995.50 \$509,378.00 \$521,124.00 \$686,952.50 \$701,788.20
	· ·

City staff recommends awarding this project to Mainline Contracting, Inc. for a total bid amount of \$472,995.50 based on unit pricing with the following appropriation:

FUNDING SOURCE
ADVERTISING AUTHORITY
ENGINEER'S ESTIMATE

TOTAL	Water
\$550,000.00	\$550,000.00
\$640,000.00	Annual Control of the

APPROPRIATION DATA:

FUNDING SOURCE
COST CENTER
LINE ITEM
FUNDING CENTER

BID AMOUNT

TOTAL	Water
	0933
	4381
	0602
\$472,995.50	\$472,995.50

PROJECT MANAGER: Keith Chron DATE: 9/26/12

PROJECT NAME: E. IDAHO AND IVY WATER MAIN RECONSTRUCTION

PROJECT NUMBER: PROJECT NO. 12-2059 / CIP NO. 50421.3-1A

LET DATE: SEPTEMBER 25, 2012

LOW BID AMOUNT: \$472,995.50

				ENGINEER'S ESTIMATE		MAINLINE CONTRACTING, INC.		R.C.S. CONSTRUCTION, INC.		SITE WORK SPECIALISTS, INC.		HIGHMARK, INC.		HILLS MATERIALS COMPANY		
ITEM NO.	STD. BID ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1	001.01	MOBILIZATION	LS	1	30708.48	\$30,708.48	\$15,000.00	\$15,000.00	\$61,880.00	\$61,880.00	\$9,000.00	\$9,000.00	\$23,800.00	\$23,800.00	\$15,000.00	\$15,000.00
2		ASPHALT MOBILIZATION	EA	6	1200.00	\$7,200.00	\$875.00	\$5,250.00	\$957.00	\$5,742.00	\$1,000.00	\$6,000.00	\$1,000.00	\$6,000.00	\$1,000.00	\$6,000.00
3	001.02	INCIDENTAL	LS	1	20000.00	\$20,000.00	\$30,000.00	\$30,000.00	\$6,634.00	\$6,634.00	\$12,000.00	\$12,000.00	\$6,500.00	\$6,500.00	\$48,000.00	\$48,000.00
4	B02.02	REMOVE & SALVAGE FIRE HYDRANT & AUX VALVE	EA	3	454.83	\$1,364.50	\$300.00	\$900.00	\$809.00	\$2,427.00	\$700.00	\$2,100.00	\$500.00	\$1,500.00	\$350.00	\$1,050.00
5	B02.05	REMOVE CURB STOP AND BOX	EA	32	116.60	\$3,731.15	\$25.00	\$800.00	\$80.00	\$2,560.00	\$75.00	\$2,400.00	\$10.00	\$320.00	\$70.00	\$2,240.00
6	B05.10	REMOVE AC PAVEMENT	SY	650	6.92	\$4,499.82	\$2.75	\$1,787.50	\$3.00	\$1,950.00	\$11.00	\$7,150.00	\$10.00	\$6,500.00	\$9.00	\$5,850.00
7	B05.12	REMOVE PCC PAVEMENT WITH AC OVERLAY	SY	308	9.13	\$2,813.27	\$3.75	\$1,155.00	\$3.00	\$924.00	\$14.00	\$4,312.00	\$20.00	\$6,160.00	\$12.50	\$3,850.00
8	B05.13	REMOVE PCC PAVEMENT	SY	2700	13.43	\$36,251.82	\$3.50	\$9,450.00	\$3.00	\$8,100.00	\$8.00	\$21,600.00	\$20.00	\$54,000.00	\$8.75	\$23,625.00
9	B05.15	REMOVE PCC DRIVEWAY PAVEMENT	SY	30	8. 4 1	\$252.28	\$4.00	\$120.00	\$3.00	\$90.00	\$8.00	\$240.00	\$20.00	\$600.00	\$8.00	\$240.00
10	B05.18	REMOVE CONCRETE CURB & GUTTER	LF	60	7.36	\$441.35	\$4.00	\$240.00	\$3.00	\$180.00	\$6.00	\$360.00	\$5.00	\$300.00	\$11.00	\$660.00
11	B05.20	REMOVE CONCRETE DRAIN PAN	SY	12	12.00	\$144.00	\$4.00	\$48.00	\$3.00	\$36.00	\$11.00	\$132.00	\$20.00	\$240.00	\$12.00	\$144.00
12	B05.25	REMOVE PCC SIDEWALK	SF	2000	2.78	\$5,553.00	\$0.50	\$1,000.00	\$2,50		\$1.50	\$3,000,00	\$2.00	\$4,000.00	\$3.00	\$6.000.00
13	C01.01	AASHTO T-180 SOIL TEST	EA	6	209.70	\$1,258.20	\$140.00	\$840.00	\$141.00			\$1,050.00	\$200.00		\$225.00	\$1,350.00
14	C07.05	SODDING	SY	440	12.00	\$5,280.00	\$8.00	\$3,520.00	\$10.00		\$5.50	\$2,420.00	\$7.00	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$8,55	\$3,762.00
15		WATER MAIN CONCRETE ENCASEMENT	LF	163	40.00	\$6,520.00	\$31.00	\$5,053.00	\$38.00		\$37.00	\$6,031.00	\$62.00		\$56.00	\$9,128.00

		CONTROLLED LOW STRENGTH			400.05											
16	D08.01	BACKFILL MATERIAL (TRENCH)	CY	22	108.95	\$2,396.97	\$100.00	\$2,200.00	\$122.00	\$2,684.00	\$150.00	\$3,300.00	\$100.00	\$2,200.00	\$130.00	\$2,860.00
17	D08.02	IMPORTED BACKFILL MATERIAL (TRENCH)	CY	150	15.26	\$2,289.39	\$5.00	\$750.00	\$5.50	\$825.00	\$7.50	\$1,125.00	\$20.00	\$3,000.00	\$13.50	\$2,025.00
18	D09.01	TYPE I BEDDING MATERIAL	Т	50	18.55	\$927.26	\$12.00	\$600.00	\$23.00	\$1,150.00	\$25.00	\$1,250.00	\$16.00	\$800.00	\$26.00	\$1,300.00
19	D09.02	TYPE II BEDDING MATERIAL	Т	50	22.55	\$1,127.49	\$25.00	\$1,250.00	\$23.00	\$1,150.00	\$25.00	\$1,250.00	\$15.50	\$775.00	\$24.00	\$1,200.00
20	D10.02	TYPE III FOUNDATION MATERIAL	Т	50	22.83	\$1,141.72	\$25.00	\$1,250.00	\$22.00	\$1,100.00	\$25.00	\$1,250.00	\$16.50	\$825.00	\$26.00	\$1,300.00
21	F01.01	6" PVC WATER MAIN C-900, CLASS 150	LF	90	38.91	\$3,501.98	\$33.00	\$2,970.00	\$29.00	\$2,610.00	\$45.00	\$4,050.00	\$50.00	\$4,500.00	\$52.55	\$4,729.50
22	F01.05	8" PVC WATER MAIN C-900, CLASS 150	LF	1781	34.07	\$60,671.01	\$28.00	\$49,868.00	\$33.00	\$58,773.00	\$38.00	\$67,678.00	\$41.25	\$73,466.25	\$59.00	\$105,079.00
23	F01.07	8" PVC WATER MAIN C-900, CLASS 150, CERTA LOK	LF	879	42.51	\$37,364.88	\$35.00	\$30,765.00	\$40.00	\$35,160.00	\$44.00	\$38,676.00	\$47.25	\$41,532.75	\$64.00	\$56,256.00
24	F06.07	6" 45 DEGREE BEND	EA	4	326.10	\$1,304.40	\$500.00	\$2,000.00	\$214.00	\$856.00	\$370.00	\$1,480.00	\$415.00	\$1,660.00	\$ 165 <u>.</u> 00	\$660.00
25	F06.09	8" 11.25 DEGREE BEND	EA	1	370.43	\$370.43	\$575.00	\$575.00	\$239.00	\$239.00	\$425.00	\$425.00	\$475.00	\$475.00	\$325.00	\$325.00
26	F06.10	8" 22.5 DEGREE BEND	EΑ	1	370.54	\$370.54	\$575.00	\$575.00	\$236.00	\$236.00	\$425.00	\$425.00	\$475.00	\$475.00	\$325.00	\$325.00
27	F06.11	8" 45 DEGREE BEND	EA	4	407.23	\$1,628.92	\$600.00	\$2,400.00	\$265.00	\$1,060.00	\$370.00	\$1,480.00	\$500.00	\$2,000.00	\$325.00	\$1,300.00
28	F10.03	8" HIGH DEFLECTION COUPLING	ÉΑ	2	234.33	\$468.66	\$200.00	\$400.00	\$207.00	\$414.00	\$100.00	\$200.00	\$300.00	\$600.00	\$125.00	\$250.00
29	F11.03	8" MJ PLUG	ÊΑ	3	266.71	\$800.14	\$325.00	\$975.00	\$165.00	\$495.00	\$150.00	\$450.00	\$250.00	\$750.00	\$225.00	\$675.00
30	F12.03	8" X 6" REDUCER	EΑ	2	342.88	\$685.77	\$550.00	\$1,100.00	\$240.00	\$480.00	\$350.00	\$700.00	\$475.00	\$950.00	\$225.00	\$450.00
31	F13.05	8" X 8" X 6" TEE	EA	6	505.41	\$3,032.47	\$675.00	\$4,050.00	\$360.00	\$2,160.00	\$500.00	\$3,000.00	\$550.00	\$3,300.00	\$625,00	\$3,750.00
32	F13.06	8" X 8" X 8" TEE	EA	3	552.60	\$1,657.81	\$800.00	\$2,400.00	\$397.00	\$1,191.00	\$625.00	\$1,875.00	\$675.00	\$2,025.00	\$660.00	\$1,980.00
33	F14.06	8" X 8" X 8" TAPPING TEE	EA	1	3626.96	\$3,626.96	\$5,000.00	\$5,000.00	\$1,994.00	\$1,994.00	\$3,000.00	\$3,000.00	\$3,200.00	\$3,200.00	\$4,000.00	\$4,000.00
34	F15.03	8" GATE VALVE W/ BOX	EA	12	1488.25	\$17,858.95	\$1,800.00	\$21,600.00	\$1,645.00	\$19,740.00	\$1,600.00	\$19,200.00	\$1,700.00	\$20,400.00	\$1,600.00	\$19,200.00
35	F17.01	FIRE HYDRANT W/AUX VALVE, BOX	EΑ	6	4902.39	\$29,414.35	\$4,000.00	\$24,000.00	\$4,746.00	\$28,476.00	\$4,400.00	\$26,400.00	\$4,120.00	\$24,720.00	\$4,325.00	\$25,950.00
36	F20.01	1" COPPER SERVICE	LF	600	30.32	\$18,189.60	\$27.00	\$16,200.00	\$35.50	\$21,300.00	\$23.00	\$13,800.00	\$50.00	\$30,000.00	\$54.00	\$32,400.00
37	F20.07	2" COPPER SERVICE	LF	141	46.72	\$6,587.44	\$44.00	\$6,204.00	\$46.00	\$6,486.00	\$40.00	\$5,640.00	\$100.00	\$14,100.00	\$55.00	\$7,755.00

						1			1			1		1		
38	F23.01	1" TAPPING SADDLE	EA	51	125.00	\$6,375.00	\$130.00	\$6.630.00	\$222.00	\$11,322.00	\$320.00	\$16,320.00	\$100.00	\$5.100.00	\$350.00	\$17,850.00
							\$150.00	40,000.00	, , , ,		40-0100	7.0,0=0.00	* 100100	70,100.00	COURTE	***,
39	F23.03	2" TAPPING SADDLE & CORP STOP	EA	4	414.55	\$1,658.21	\$350.00	\$1,400.00	\$396.00	\$1,584.00	\$400.00	\$1,600.00	\$275.00	\$1,100.00	\$450.00	\$1,800.00
40	F04.04	45 OURD OTOD A DOV		20	204.00	P40 004 40	0075 00	#0.000.00	*0F0 00	#44 DC4 OD	#075 A0	#a ana an	@EGG DO	£46 000 00	****	044 000 00
40	F24.01	1" CURB STOP & BOX	EA	32	321.29	\$10,281.42	\$275.00	\$8,800.00	\$352.00	\$11,264.00	\$275.00	\$8,800.00	\$500.00	\$16,000.00	\$350.00	\$11,200.00
41	F24.03	2" CURB STOP & BOX	EA	4	537.96	\$2,151.85	\$450.00	\$1,800.00	\$620.00	\$2,480.00	\$450.00	\$1,800.00	\$650.00	\$2,600.00	\$565.00	\$2,260.00
42	F26.01	CONNECT TO EXISTING WATER MAIN	EA	7	1547.79	\$10,834.50	\$1,500.00	\$10,500.00	\$379.00	\$2,653.00	\$450.00	\$3,150.00	\$300.00	\$2,100.00	\$1,285.00	\$8,995.00
43	F26.03	RECONNECT WATER SERVICE	ĖΑ	54	314.83	\$17,000.76	\$400.00	\$21,600.00	\$164.00	\$8,856.00	\$150.00	\$8,100.00	\$300.00	\$16,200.00	\$200.00	\$10,800.00
,,,	1 20.00	TALLOCATION TO THE TALLOCATION OF THE TALLOCATION O		<u> </u>	011.00	\$17,000.10	ψ 100.00	ψ <u>μ</u> 1,000.00	\$10 1.00	ψο,σσοίσσ	\$100.00	\$0,700.00	φσσισσ	410,200.00	42,00,00	
44	F33.01	CATHODIC CONTROL TEST STATION	EA	. 4	469.68	\$1,878.73	\$400.00	\$1,600.00	\$324.00	\$1,296.00	\$400.00	\$1,600.00	\$350.00	\$1,400.00	\$360.00	\$1,440.00
45	F33.03	CATHODIC PROTECTION	LS	1	25000.00	\$25,000.00	\$18,000.00	\$18,000.00	\$ 18,2 7 2.00	\$18,272.00	\$17,500.00	\$17,500.00	\$5,000.00	\$5,000.00	\$30,150.00	\$30,150.00
46	H01.01	EROSION AND WATER POLLUTION CONTROL	LS	1	2668.05	\$2,668.05	\$1,000,00	\$1,000.00	\$2,254.00	\$2,254.00	\$10,000.00	\$10,000.00	\$3,000.00	\$3.000.00	\$12,000.00	\$12,000.00
1,5	1101101	EROSION AND WATER POLLUTION			2000.00	,	\$1,000.00	\$1,000100	4=,==	+=,==	V.10,000.10	7.0,00000	40,000.00	40,0000	4 12,000,00	* 12,000
47	H01.02	CONTROL PLAN	LS	. 1	2287.10	\$2,287.10	\$500.00	\$500.00	\$1,422.00	\$1,422.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00
48	H13.02	ROCK CONSTRUCTION ENTRANCE	EA	5	90.42	\$452.08	\$100.00	\$500.00	\$185.00	\$925.00	\$1,500.00	\$7,500.00	\$100.00	\$500.00	\$1,100.00	\$5,500.00
49	H15.01	9" WATTLES	LF	650	6.00	\$3,900.00	\$4.00	\$2,600.00	\$3.00	\$1,950.00	\$4.50	\$2,925.00	\$5.00	\$3,250.00	\$4.50	\$2,925.00
50	H15.03	SEDIMENT FILTER BAGS	LF	200	10.00	\$2,000.00	\$3.00	\$600.00	\$6.00	\$1,200.00	\$4.50	\$900.00	\$500.00	\$100,000.00	\$4.50	\$900.00
51	H16.01	EROSION CONTROL, INLET PROTECTION	EA	3	155.52	\$466.55	\$150.00	\$450.00	\$262.00	\$786.00	\$100.00	\$300.00	\$500.00	\$1,500.00	\$95.00	\$285.00
52	101.02	AGGREGATE BASE COURSE, 1"	т	950	25.92	\$24,624.67	\$23.00	\$21,850,00	\$20.50	\$19,475.00	\$21.00	\$19,950.00	\$21.00	\$19,950.00	\$32,75	\$31,112.50
			-				72000	V21,000101	,=====	****,		710,000.00	,	711,000	402.70	721,711
53	102.01	GRAVEL CUSHION	Т	20	33.50	\$670.08	\$23.00	\$460.00	\$21.00	\$420.00	\$26.00	\$520.00	\$25.00	\$500.00	\$57.00	\$1,140.00
54	102.03	GRAVEL SURFACING, TEMPORARY	Т	330	21.71	\$7,163.57	\$20.00	\$6,600.00	\$20.50	\$6.765.00	\$26.00	\$8,580.00	\$18.00	\$5.940.00	\$23.50	\$7,755.00
7 -	.02.00	- State Stat	<u> </u>			4.1100.01	Ψ20.00	\$3,000.00	420.00	‡3,7 00.00	\$2.0.00	+3,000.00	Ų.0.00	15,0 10.00	φ20.00	Ţ.,
55	104.03	AC, CLASS G, TYPE 1 PG64-22	T	800	120.00	\$96,000.00	\$90.00	\$72,000.00	\$96.00	\$76,800.00	\$95.00	\$76,000.00	\$100.00	\$80,000.00	\$104.00	\$83,200.00
56	118.03	PCC DRIVEWAY PAVEMENT 6", NONREINFORCED	SY	30	58.70	\$1,761.01	\$50.00	\$1,500.00	\$56.00	\$1,680.00	\$70.00	\$2,100.00	\$100.00	\$3,000.00	\$66.00	\$1,980.00
57	119.01	CONCRETE CURB & GUTTER, TYPE B6-6	LF	600	25.54	\$15,322.26	\$26.00	\$15,600.00	\$17.00	\$10,200.00	\$29.00	\$17,400.00	\$25.00	\$15,000.00	\$23.80	\$14,280.00
58	123.02	CONCRETE DRAIN PAN, 6" REINFORCED	ŞY	12	60.90	\$730.79	\$55.00	\$660.00	\$59.00	\$708.00	\$90.00	\$1,080.00	\$100.00	\$1,200.00	\$71.85	\$862.20
59	133.01	CONCRETE SIDEWALK, 4" NONREINFORCED	SF	2000	7.05	\$14,095.00	\$6.00	\$12,000.00	\$5.00	\$10,000.00	\$5.50	\$11,000.00	\$3.00	\$6,000.00	\$ 9.15	\$18,300.00

60	J02.01	LANDSCAPE FABRIC	SY	100	3.23	\$323.03	\$4.00	\$400.00	\$3.00	\$300.00	\$3.50	\$350.00	\$5.00	\$500.00	\$3.60	\$360.00
61	J03.01	LANDSCAPE ROCK, 1"-2" CLEAN RIVER ROCK	Т	20	67.49	\$1,349.82	\$45.00	\$900.00	\$20.00	\$400.00	\$60.00	\$1,200.00	\$32.00	\$640.00	\$64.00	\$1,280.00
62	L06.01	TRAFFIC CONTROL	LS	. 1	2500.00	\$2,500.00	\$5,500.00	\$5,500.00	\$5,627.00	\$5,627.00	\$10,000.00	\$10,000.00	\$21,937.50	\$21,937.50	\$5,700.00	\$5,700.00
63	L06.02	TRAFFIC CONTROL PLAN	LS	1	1020.53	\$1,020.53	\$1,200.00	\$1,200.00	\$1,125.00	\$1,125.00°	\$1,400.00	\$1,400.00	\$3,375.00	\$3,375.00	\$1,150.00	\$1,150.00
64		WINTER STREET MAINTENANCE - IVY AVENUE	LS	1	5000.00	\$5,000.00	\$250.00	\$250.00	\$2,563.00	\$2,563.00	\$6,000.00	\$6,000.00	\$500.00	\$500.00	\$7,000.00	\$7,000.00
65		WINTER STREET MAINTENANCE - E. IDAHO STREET	LS	1	50000.00	\$50,000.00	\$250.00	\$250.00	\$2,563.00	\$2,563.00	\$4,000.00	\$4,000.00	\$500.00	\$500.00	\$7,000.00	\$7,000.00
66		6" REPAIR COUPLING	EA	3	200.00	\$600.00	\$300.00	\$900.00	\$386.00	\$1,158.00	\$300.00	\$900.00	\$200.00	\$600.00	\$265.00	\$795.00
67		8" REPAIR COUPLING	EA	2	225.00	\$450.00	\$325.00	\$650.00	\$424.00	\$848.00	\$350.00	\$700.00	\$250.00	\$500.00	\$300.00	\$600.00
68		WATER MAIN BREAK REPAIR	HR	20	500.00	\$10,000.00		\$4,000.00	\$347.00	\$6,940.00	\$200.00	\$4,000.00	\$600.00	\$12,000.00	\$500.00	\$10,000.00
TOTAL						\$640,000.00		\$472,995,50		\$509,378.00		\$521,124.00		\$686,952.50		\$701,788.20

CITY OF RAPID CITY

Reviewed by:

h Johnson

Date